PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
23rd July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

‘Vocalist’ is related ‘song’ in the same way as ‘player’ is related to / ‘@’ Jaid & “TH’ I
U ToR ¥ o we g ddfta § g9

e Game / ©d

® Victory / Sha

e Match /89

* Practice / J¥MH
Correct Answer :-Game / ©d
2)
Question Stimulus :-
Currently, Hyderabad is the capital of/a?ﬁ:l'l:fﬁ %WWQW %

® Andhra Pradesh Only /%ﬁt«ransru%.m

® Telangana omn%ma?wim:n

® Both Andhra Pradesh and Telangana / ST MY =T 3T AEET

® Neither Andhra Pradesh nor Telangana / al sy Uﬁ'ﬂ AR A é’f CLUIGH
Correct Answer :-Both Andhra Pradesh and Telangana / ST 3y U= 3R A@ITHT
3)

Question Stimulus :-

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no

break in between. / U% BRUT T & 3 7RG § ST &1 2| U4 el # 5 TR 21 a9 TS R § S1H
A A2 AT R W ITN F R IR A WA | 5 e dar 21 Y 3rTel Js& A o3 § 20 e qar g1
I9PT 3 Gag 10 99 TR= giaT ¢ iR SIUeT 3 o WA BT &1 98 9 oiF DIS favr T8} ol

If in each street only 2 houses has to be delivered with letter, what is the total time taken

()



ft%:md:rg:;rthe letters? / If¢ U it & Had 2 ORI & UF &1 5, df @ fba-1 G979 v fdakd o &
?

e 60 minutes / 60 fiFe
* 65 minutes / 65 fie
* 67 minutes / 67 fiAc

* 69 minutes /69 fi-c

Correct Answer :-67 minutes / 67 fia=c

4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below:

/e ghraicr S e IR REIu s F I 8 :

If Govind is a singer then he will sing a song. / ﬁﬁﬁ?@ﬂw% GICRRIEI
TEIT|

e If Govind is not a singer then he will not sing a song./ H%Tﬁﬁi"@w:rﬁ%?ﬁ dg
AT &1 IME|

e If Govind is a writer then he will write a story. / ﬁﬁﬁ?@ﬁw%?ﬁ El'a'ﬁ'l*ﬁ
foram)

e If Govind sings a song then he must be a singer. / If¢ Mfa=g =T a1 & @ 98 TH

S BRI

e If Govind does not sing a song then he must not be a singer. / gfe Mg mar =&Y
T € 1 9% A e g |

Correct Answer :-If Govind does not sing a song then he must not be a singer. / fe
TMifaee T =18 TITeT 8 9 98 A T g

5)

Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are
four drawings of boxes with designs. When folded, which box will it be? / aferor v GI'I?ﬁf
fafirer t9el W fewmsl & a1y fo=r a8 frar ver oo fiardt 8] R feoms = aet 9o &1 IR S )
Bite B W, DI AT IR GRIT?

©)



Correct Answer :-

6)
Question Stimulus :-

The first Governor of Madhya Pradesh was VAL 'ﬂa'-'\"l' ® ueﬁ TYUret iT|

* Ravishankar Shukla / Ifa=i® AT

® SN Sinha / T Tq ﬁ'-l?T

® Pattabhi Sitaramayya / tl?_'lﬁ-[ GIGIEE RS

® Hari Vinayak Pataskar / E'\ﬁ fomoe e
Correct Answer :-Pattabhi Sitaramayya / q@Tﬁ-[ Fraraan
7)

Question Stimulus :-

A, M, D and G ran a race. A came third. M was not the first and G was not the last. D
was immediately behind G. What was the order in which they finished? / A, M, D Td G
TP IS | QIS 1 A AT AT M Uy 181 U1 Ud G 3ifaw 981 411 D, G & aopTal WD AT| 98 9 &1 AT
o 3R uIftg 12

(4)



e GDAM
* DGAM
e GMAD

e Cannot be determined / fRiuiiva gY forar w1 gooar

Correct Answer :-GDAM

8)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFafafea vy & e arde $9 & v o sgawn $3 iR S9@ 91g i iy v et # ¥ Jad Suyge
SIHH BT TG DI

1. Site 2. Plan 3. Rent 4. Money 5. Building 6. Construction
1. T 2. TioT 3. fH[m 4. U 5. sURA 6. fAwf0r

1,2,3,6,5,4

2,3,6,5,1,4

3,4,3,6,5,1

4,1,2,6,5,3

Correct Answer :-4,1,2,6,5,3
9)

Question Stimulus :-

The President of India is / HIRd & ?quﬁf % :

® The head of the State / W%W

® The head of the Government / TR®BRR & uqy

® The head of the Parliament / m%m

® The head of the Judiciary / —ITIUTIAI®T & UGH
Correct Answer :-The head of the State / I5d & UG

10)

(5)



Question Stimulus :-

According to the 2011 Census of India, is the most populous tribe in Madhya Pradesh. / HIRd @ 2011 BI

ST & AR, AU Ve B gad Sife T Smard) arenm ¥ 21
* Gond /TS
e Bhil/ i@
* Korku/®RP
® Baiga /ST
Correct Answer :-Bhil / Hi&@

11)

Question Stimulus :-

How many Union Territories are there in India? / HIRd ﬁ ﬁ")_def aﬁz’ QTIﬁ"'I_tT BI%QT %'?
e 9
o 7
e 5
e 10
Correct Answer :-7

12)
Question Stimulus :-

A team of five is to be selected from amongst fiye boys (A, B, C, D and E) and four girls (P,
Q; R and S). Some criteria for selection are: / U Fl'sélﬁ(A,B,C,D,Gﬁ? E) 3R AR
asfPpali(P,Q,R,3MR S) & A UM AN &t b 19 T TG BT ¢ 1 TIH B I 8

A and S have to be together. / A 3R S |1Y 81 12T

P cannot be put with R. / P &I R & 914 98] 3@I & Ibdll

D and Q cannot go together. / D 3R Q U Iy T o 9 d |

C and E have to be together. / C 3R E U& 1Y gl g4 1T |

R cannot be put with B. / R &I B &% 91Y T8I IQ&T ST &Il

(6)



If R be one of the members the other members of the team are / 3R R 17 & Ul # A U&
ERIT Y 3T Hex Bl

 P,SAD
* QS,AD
e QS,C,E
e S,ACE
Correct Answer :-S,A,C,E

13)
Question Stimulus :-

Name the only Indian Prime Minister who never faced the Parliament during his tenure- /

YRA & I THAT FUFHA ST 719 qa1¢, S 307 SRS & gRE S Wt Hwg 181 -
® Atal Behari Vajpayee / 3[Cd foert areruedt
¢ Chaudhary Charan Singh / &R TR+ f¥ig
® Chandra Sekhar/ T% JIGR
® Vishwanath Pratap Singh / fasry wara Rig

Correct Answer :-Chaudhary Charan Singh / e A Ri

14)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 719 79 &, 789 oI5 & o S voR I IS Gy g] 9 e § & 9 ue gt
fraeT IR Ug & T14 Sl TER &1 I9Y )

Mother: Daughter :: Father : ? / HIdl : Stz far: 2
e Son / del
¢ Brother / 'l-l'l'«f
* Boy / dS®PI

e Sijster / dgd

(7)



Correct Answer :-Son / 9¢l

15)
Question Stimulus :-

Who is known as the ‘Iron man of India’? / *HIRd » ﬁ? gey’ * 919 q B ST STl %?
® Subhas Chandra Bose / UTY T §I
* Bal Gangadhar Tilak / ST TR faa®
® Chandrashekar Azad / TERIER SISl
® Sardar Vallabhai Patel / 9gRR ac—vrﬂ-r'l-n% ued

Correct Answer :-Sardar Vallabhai Patel / JRGIR GEAHHTS Ued

16)
Question Stimulus :-

Where was Gautama Buddha born? / id® & PI S H Gl BT YUT?

* Kundagrama / $GrITH

® Kapilavastu / Eh'ﬁ?la'\ﬂ
 Kashi/ TR0

® Samastipur / mﬁ’rg'\f

Correct Answer :-Kapilavastu / STUaasg

17)
Question Stimulus :-

is called the Manchester of India. / Pl YR BT AR Dl Slldl %I
® Ahmedabad / SIlgHGIdIg
® Allahabad / cilgldlq

® Amritsar / {ddY
* Hyderabad / 8S3T9TG

Correct Answer :-Ahmedabad / [gHGIdIG

(8)



18)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg

ey gfie il 3T T Byl vd frenyf & ¥ § 98 81
Statements: / ®YH:
Some clouds are hills. / $© Si¢d UgIfsar g
Some hills are tombs./ $ TeIfedl 4 T
Conclusions: / fAwsd:
I. Some clouds are tombs. / $9 digd Hd %'I
II. Some tombs are clouds / $& &d diqd %'I
e Only conclusion I follows / ¥ad Ay I fAwadr g
e Only conclusion II follows / *aa fased 11 feedr %
e Either conclusion I or conclusion II follows / a1 @l foswd 1 a1 5= e 11 frperar 3

e Neither conclusion I nor conclusion II follows / 7 dl foehd I e & oiv 9 & s
II

Correct Answer :-Neither conclusion I nor conclusion II follows / 9 dI faspd I feeear g
3M¥ 7 gt fo=pd 11

19)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / 19 ¥ T, 9R s fea
T g, fored @ 19 foreft upR | 90T § 3R IT9) T 3[RT 8| 3IeNT ara JTd Do |

e Bird / faIfsar
e Crow / CaR
e Kite / dtd

* Pigeon / &R}
Correct Answer :-Bird / [RIfgar

20)

©)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faw

gheiab sl R AT Rr sy F T § -

If the marks are less then you will not get admission. / If¢ 3@ 4 § @ 3MUP elRaar T&f
e

e If the marks are not less then you will get admission. / gfe i HH Y & dY U

[ITCEIRE U

e If you get admission then the marks are not less. / If¢ 3P grien fre«r 8 @ siw
$H e g

e If you do not get admission then the marks are not less. / gfe Myl grfar &l
firerar @ 91 8i® &9 &1 3

* For getting admission a high score is enough. / A & foe 3= Wi ygie %I

Correct Answer :-If you get admission then the marks are not less. / af¢ 3T gIiAar
et 8 oY i o0 7EY &

21)

Question Stimulus :-

Mohenjodaro was discovered by / Higuiics! @t el fhded gRI &1 T8 A
® RD Bannerjee /\H’Rﬁ e
® DayaramSahni / QUIRTH mﬁ
® George Jule /\_tlzllTrf o
© AV Alexander /¥ df TdgaisY

Correct Answer :-RD Bannerjee / 3IRS! aTif

22)
Question Stimulus :-

Ratio of width of India’s national flag to its length is ./ HIRd & Tl'g’l'q & Bl WI'{»; T'-ﬁ?."»'lg' T SJUrd |
* 2:3

® 1.5:2

(10)



1.5:3

Correct Answer :-2:3

23)

Question Stimulus :-

Who did Sarojini Naidu succeed as President of the Indian National Congress? / fPa® QI W RIS aag

HIRTT ITPT HIT BT Sreae 12

Vallabhbhai Patel / GEAHHTS Ued
Bhagat Singh / HITd R
Mahatma Gandhi / HelHT TR

Lord Mountbatten / TTS ATScded

Correct Answer :-Mahatma Gandhi / TgTHT TS

24)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg§ sy

g, ab s R A TR R e Fy7 % 9= 2 -

If the man is crazy then he will jump from the tower. / afe 3MeH A®! § o 98 TR A T
SIS

If the man is not crazy then he will not jump from the tower. / gfe SeHt Tt T@%

9% <R @ 7TE T

If the man jumps from the tower then he must be crazy. / gfe 3MeHT TR | Padl g
af 98 Id! gRm|

If the man does not jump from the tower then he must not be crazy. / gfe smeet

TR A T Baal ¢ 1 98 TSB! 8! gIm|

If the man is not crazy then he will use a parachute. / If¢ 3EH! TP 781 & At 98
RIS BT TGN B

Correct Answer :-If the man does not jump from the tower then he must not be

crazy. / af¢ gl eTaR | & Fgar & O 98 ! Ag! gl

25)

Question Stimulus :-

(11)



A 0 B means A is the sister of B, A 4 B means A is the father of B; ASB means A is the
brother of B, which of the following means that X is the aunt of Y? / A 6 B &1 Hddd % A, B

ANTETE, ACBFT AT R A, BF TS ASB ST Ha@a 2 A, BHTUE 2, P A ¥ rust aaaa & %
X, Y 91 3ridl g2

e XoeD2Y
e x4pF€y
e x%povy
e xS ply

Correct Answer :-X8 D2 Y

26)
Question Stimulus :-

The Constitution (122nd Amendment) Bill, 2014 is related to: / AT (T T TS Har w=e ) fadu®, 2014

® Goods and Services Tax / 9%g Td JqaT B

® Right to Education / e &1 SftdR

® Right to Services / TAT BT STUPR

® Right to Food Security / €Tl IRE&T Iieary

Correct Answer :-Goods and Services Tax / 9% Td |dl HT

27)
Question Stimulus :-

Name the shipyard situated on the Konkan coast? / PIpul d¢ W R Rigars o1 a1
® Cochin /B
* Kandla/ BISAT
® Mazagon /| T
® YVisakhapatnam / foRmaTg— =

Correct Answer :-Mazagon / USRI

28)
(12)



Question Stimulus :-

Six people A, B, C, D, E and F are sitting on the ground in a hexagonal shape. All the sides
of the hexagon so formed are of same length. A is not adjacent to B or C; D is not adjacent
to C or E; B and C are adjacent; F is in the middle of D and C. / ©: @RI A,B,C,D,E 3R F 59

TR YCHINT 3ThY T 98 &1 Tepiv &t it argei #l doE TP TUH I BAWCHF A H A A 8; CUTE
FTAAD S E; BARCTAHE; DR CFH ST F 3l

Which of the following is NOT a correct neighboring pair? / feda s @ gt \_rﬁé’r q@ﬁ'@f G
??

e AandF/AS3RF
e DandF/DS3RF
e BandE/B3RE

e CandF/C3iRF

Correct Answer :-Aand F/ A3IRF

29)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ﬂﬁl'q
St faT T Syt Td feput $ aR # 981 2

Statements: / $YA:

All boats are cars. / 94l 919 &R &l

All cars are planes. / Tt s faum 2
Conclusions: / fAesd:

I. All boats are planes. / I. gt 919 A= %'I

II. All planes are boats. / II. 9 A 79 €1
¢ Only conclusion I follows / ¥$ad ey I f@adr @
e Only conclusion II follows / %ad sy 11 fAeadar 8
e Either conclusion I or conclusion II follows / T ql fAswd 1 a1 6= e 11 frperar @

¢ Neither conclusion I nor conclusion II follows / 9 @ faewd 1 e g ofix 71 g1 fored
II

Correct Answer :-Only conclusion I follows / ad frsey 1 Awedr @

(13)



30)
Question Stimulus :-

Phanish when going to a pub found that he can’t take the right turn as it was blocked.
He was forced to turn left. What is the possible course that he can take now? / B A

T® U9 W19 g¢ U % 98 Sifer die et @ Toar wiifer 98 unf erav 81 98 918 e W UWiqR &
Tl o ) ferme # e o9 Sud few dva g 2
* Left, right, left / 9T¢, grd,9T¢
e Right, right, left, right / S, 3F, 91¢, S0
e Right, right, right, left / <@, 3¥, <™, 91
e Right, left, right, left / g™, 1Y, gF, 91
Correct Answer :-Right, right, right, left / gid, g, g4, 91¢
31)
Question Stimulus :-

“Swarna” is another name for ./ "ﬁ'uf" DT g AH % |
® Tapti/ aTedt
e Chambal /ddd
® Narmada/ =|ﬁ'c;‘T
e Son /9HIF
Correct Answer :-Son /9
32)

Question Stimulus :-

If Monday means a lousy day, and it’s a lousy day today, then it’s not Monday. / e
WHAR BT Addd U 9gd @RS fod 2, 3R 3o 98 W9 137 8, @t 3l |ivar =8 21

e True / Ig!

False / TTdd

May be / 8 I&dl &

Irrelevant / 3MUTERT®

(14)



Correct Answer :-May be / &l H&%dl &

33)
Question Stimulus :-

How many central prisons are currently present in Madhya Pradesh? / ToH § T ue™ H fpaq g oa
Hiv[e 82

.9
e 11
e 14
e 12
Correct Answer :-11
34)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3Y E UlT 91 Bt A g g
1. A, B and C are in Indore and Bhopal. / A, B 3R C sﬁ?'t{ﬁ yigre # g1
2. A, B and E are in Indore and Gwalior / A, B 3R E ?}ﬁ?@wff%'l
3. B, C and D are in Raipur and Bhopal. / B, C 3R D WQ’G vara A %'I
4. A, E and D are in Gwalior and Jabalpur / A, E 3R D iR Td S9aqR ¥ g1

5. C,E and D are in Raipur and Jabalpur / C, E 3R D IR U4 9aaqR A &1

Branch of which bank is in all places except Gwalior? / P S P Rar GiferR & sremar gt

SHTEl § 82

Correct Answer :-C

35)

Question Stimulus :-

(15)



Pataleshwara Temple is located at ./ Uﬂﬁ%ﬂ 'FI'%? _'el R %I
® Amarkantak / 3THYPCPH
® Mandhata / HYTdT
e Nemawar / FHTGR
® Terahi/ a?_bpf

Correct Answer :-Amarkantak / 3[HI$hCH
36)
Question Stimulus :-
Who gave the slogan “Jai Jawan, Jai Kisan”? / “ST SId[H, o[d fparT @1 AR feae fear ure
e Sardar Patel / GG Ued
® Netaji Subhash Chandra Bose / AdToll UTY T o
® Maulana Abdul Kalam Azad / FY@THT (g DelH ATVlG
® Lal Bhahdur Shastri / @l 98TgR XA
Correct Answer :-Lal Bhahdur Shastri/ T¢I §8TgY IRTA
37)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe qﬁq
Wit f3u U Yyl vd frewuf & an § 9 21

Statements: / $Y:
All policies are laws / 94t Hifaai &1 §

No law is a rule / ®Is & faw 78 @
Conclusions:/ fp:

I. No policy is a rule / I.ﬂ-ﬁsF Hife Faw i 8
II. No rule is law / IL.IS fAaW & 78 @
®* Only conclusion I follows / Pad ey 1 e %

¢ Only conclusion II follows / %ad faeed 11 fAwadr &

(16)



e Both conclusion I and II follows / I 56t I 3R 11 e &

¢ None of the conclusion I or II follows / oy rarII# 9 ﬁ'sf ?I'eﬁ T %
Correct Answer :-Only conclusion I follows / %dd fssy I fAeadr @
38)

Question Stimulus :-

Which one of these plays was written by Kalidasa? / 37'“?[ J B T ATed PTG gRI forar mar u1?
* Neel devi / -Id
® Andhr Nagari / SR TRY
® Satya Harish Chandra / I AL

® Abhijnan Shakuntalam / TSI paad

Correct Answer :-Abhijnan Shakuntalam / 3TUIIT JHaad

39)

Question Stimulus :-

The Konkan Railway is between Mumbai and ___. / PIHUT Ied ,'ﬂ'ﬁé' 3T - ¥ d= %’I
® Goa/Tal
® Mangalore / TSR
e Cochin / BH

¢ Kanyakumari/ WITHT\&

Correct Answer :-Mangalore / HITAIR

40)
Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min
to deliver letter in each house and 5min to travel between each house in each street.
He takes 30 min to go to the next street. His day starts at 9 AM and finishes off by 4

PM, with an hour of lunch break. / T% ST H 4 A A STHE SN EI SR TN H 10 R &1 T/ R
W A 3TH 1 H T fiqe adr © ok Ui firde ude welt § TR & &= arsm &4 | @ar g1 9 30 fiAe
3Tet et F W § T §1 SHBT 37 YI© 9T IR ST & 3R 499 WeH BT €, 59 oI a8 190
BT GIUER & HIvH & e I9Y ddT B

(17)



Suppose the postman has to cover only 2 streets with all houses. He started off at 9
AM. By what time will he finish off his work, assuming he took 1 hr lunch break? / |9

dfoTe ot 39 Rt 2 el & 9 Wi § UF ¢ §1 SUH 99 BT Y% AT dt gugk & WieE & fog
TS Hel a4 & 916 91 B aHsu-T o1 T fHar?

e 12 Noon / U 12 T4

e 1PM /U 189

e 2PM /UG 2T

* 3PM /QUR 3T
Correct Answer :-1 PM / QIU&Y 1 §6l

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

] 1

& -

Correct Answer :-[H H

2)

Question Stimulus :-

(18)



In the ratio 4:7, what positive number should be added to get the ratio as 5:6? / 3urd
4:7 B, D9 A LTS T@ WSl W e R srgurd 5:6 fira @@

* 6

Correct Answer :-11

3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / @@ &R BT 4GAT Bl RT HIOC :_ _
aba _ _ba __b

® abbbab

® abbaba

® baabbb

® bbabaa
Correct Answer :-abbaba
4)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / = € TS JaaT SfeRY T AT BT STH YART Bl §| T Ao ggan-d|
(i) TR452353781

(ii) TR452353781

(iii) TR452551781

(iv) TR452351781

L

® jii

(19)



® v
Correct Answer :-iii
5)
Question Stimulus :-

A person gets Rs. x from salary and Rs. 3x from rent. How much does he earn in total?

/ TP e B x TUF IO 3 A e § SR 3x T IR @ P € 98 oot fbaeir SATaT 272
o 4x
¢ 6x
¢ 3x
* 4
Correct Answer :-4x
6)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fAquW 3(&R TS 4TAT Bl RI PIOT : a _
b_aabb_a _ _a_bb

® bbaabb

® ababba

® ababab

® bababa
Correct Answer :-ababba
7)

Question Stimulus :-

In a certain code language, zee cin com means king was great; cin bana goap means holy great saint; wisp sean bana
means next holy day. Which is the word for saint in that code language? / forelt @Y P yTwT ﬁ, zee cin com
CIRGRCR king was great; cin bana goap BT Hddd ? holy great saint; wisp sean bana BT Hddd ® next holy day
| meﬁsaint$mWW%?

® cin
® bana

(20)



® goap

® wisp
Correct Answer :-goap
8)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / a

3pfd B T & o =graw w@n | fea-! et Y o srazaswar grit?

Correct Answer :-10

9)
Question Stimulus :-

Complete the series choosing the missing number: / fATW TBAT DR YTAT B TR BT :

2,5,9,14, 27
° 18
e 19
e 20
e 22

Correct Answer :-20

(21)



10)
Question Stimulus :-
A student scored 86,92,77,95 and 75 marks out of 100 in five subjects. What is his
average mark? / U O3 1 Urd fawat & 100 # A 86,92,77,95 3R 75 3w Wiw fou| 39 N9d
3 FT 82
e 85
e 82
e 87
e 80
Correct Answer :-85
11)
Question Stimulus :-

Two cards are drawn from the pack of 52 cards. What is the probability that they are kings? / T.‘ﬁ TR 52 AT BT T@

& et g | fa-t FuTaHT g o 9 I1eeme 8z

1

21

220

15

o 221

100
221

1

Correct Answer :-

12)
Question Stimulus :-

In a certain code, GATE is written as HBUF, then how is DEGREE coded? / fodt W #is
#, GATE 91 HBUF for@1 SITaT 8, 91 DEGREE &I &4 $ifsd f$al Sm?

e EFHTFE

(22)



* EEHTFF

e EFHSFF

e EEHTFE
Correct Answer :-EFHSFF
13)

Question Stimulus :-

A car moves at the speed of 60 km hr. What is the speed of the car in meters per second?/ €h hI¥ 60 fooet ufe o

3 A T Terd! 1 Hiex ufd Jbs § SR & fa | erft?

-

16 m/sec / 16§1ﬂ/@ﬁﬁ'

e 18 3Im/sec / 18 étﬁ/'\ﬁfTé
® 16 m/sec/ 16 :ﬂ/'\aﬁ'
® 18m/sec/18 Tﬂ'/aﬁ

2

| =2

Correct Answer :-16 3 m/sec / 16 2 Hi/3%s

14)
Question Stimulus :-

3-6 +9-13+7+18 =?
° 22
e 18
° 24
® 20
Correct Answer :-18

15)

Question Stimulus :-

An Iron box was brought for Rs. 770.75.and was sold for a profit of Rs. 50.25._ Find selling price of Iron
box? / U WIE & SIa Pl 770.75 UY H TWIaT AT AT 3R 50.25 TUY & A1 § 91 f&gm Tm u11 g &
i & faept Jed BT Tar Tme?

(23)



* Rs.821/821 %W
e Rs.721/721 %W
e Rs.621/621 3
* Rs.521/521 %W

Correct Answer :-Rs. 721/ 721 1

16)
Question Stimulus :-

In a certain code language, Talk to me means Tu Nam Pit; Give me that means Su Ram
Nam; Give to him means Pi Tu Su. Which is the word for Give to me in that code language?
/ Tt @ ®is | H, Talk to me &1 A9 & Tu Nam Pit; Give me that &1 Addd § Su Ram
Nam; Give to him &1 HdAd § Pi Tu Su | 34 HIs UV H Give to me & forw w71 T1sg B2

® Nam Ram Su
® Su Tu Nam

® PiTu Ram

® PiTuSu

Correct Answer :-Su Tu Nam

17)
Question Stimulus :-

The ratio 6:5 expressed as a percentage equals/ Ufa=d & ¥U ¥ 3ifisgad fasar T U 6:5
fPaq & SRR NI

® 125%
® 140%
® 120%
* 130%
Correct Answer :-120%

18)

Question Stimulus :-
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Two cards are drawn from the pack of 52 cards. What is the probability of getting either a jack of spade or a king of

diamond? / Gol ATRT 52 AT B1 TS A fAHTA T | §FH FT I[ATH AT ¢ BT IIGRME Fem B a1 WU 82
* 1/26
* 1/13
* 1/52
* 2/13
Correct Answer :-1/26
19)

Question Stimulus :-

In a certain code, TEACHER is written as VGCEJGT, how is PROBLEM written? / &l @9
$Ie §, TEACHER &' VGCEJGT 1@ ST g, @l 39 e § PROBLEM &1 $d for@m SR ?

* RTPDNGP
e RTQDNGO
¢ PTRDNGP
* RTQENGO
Correct Answer :-RTQDNGO

20)
Question Stimulus :-
Complete the series choosing the missing number: / faqw J=AT gAHY AT BT T HIfWIT :

1,4,9,16,25,
e 35
* 36
® 48
® 49
Correct Answer :-36

21)

(25)



Question Stimulus :-

120 candidates appeared for an examination of which 75 passed. The failed percentage is? / Tdh afRe ¥ 120

St 3y foran, fo=d 9§ 75 SOl gUI SOl wf=raar gii?
* 40%
® 35%
® 45%
* 30%
Correct Answer :-35%

22)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 9 38 T 9R ual § 9 i i T ud & die 99E S 91 Ue 81 62

Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(i) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNLA

POLAND

(ii) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(iii) Mme Anna Kowalska
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Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(iv) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

® jv
Correct Answer :-i

23)

Question Stimulus :-

1

A flask holds 1 % liters of tea. How many mugs can be filled with the tea from the flask, if
1

each mug can hold 250ml of tea? / T WIRG A I BT 1 4 <ficT oM Ioar 8| afe s 791 & I/
P1 250ml 3T AT g, T WIRS I fHad 71 W o IPd 82

Correct Answer :-5

24)
Question Stimulus :-

A train travels at an average speed of 50 km/h, stopping for 2 minutes after every 75 kms. How long will it take to

reach a destination of 600 kms from the starting point? / T §=r 50 fopei/der 1 ofiaa Wi | Ferd %, Fl?l:aﬂ? 75
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ﬁmﬁﬁgﬂwzﬁﬂeﬂiﬁﬁwﬁﬁl&qumﬁﬁooﬁﬁﬁﬁﬁ?m@quﬁﬁﬁ@m
THT T2

® 12 hrs 7 minutes / 12 9¢ 7 e
® 12 hrs 21 minutes / 12 G¢ 21 e

® 12 hrs 14 minutes / 12 9¢ 14 ffFE

® None of these / §TH '\ﬂaﬁéqﬁ

Correct Answer :-12 hrs 14 minutes / 12 T¢ 14 ffF¢

25)

Question Stimulus :-

A can do a work in 15 days and B can do the work in 10 days. How many days will take to complete the work, if
they do simultaneously? / A T ®TH ®I 15 o=l # [T H% THar1 & 3R B I &0 &) 10 o7 & w1 o
TPl § | i A gl T &1 THT | BTH Hd 8, 91 BIH B R B | fpa- fe @

° 6days/6ﬁ=f
° 5days/5ﬁ:f
e 9days/9 fed
. 8days/8ﬁ7'f

Correct Answer :-6 days / 6 f&

26)
Question Stimulus :-
The value of 25P, is / 25P, ®THM ©
® 600
® 625
® 575
® 550
Correct Answer :-600

27)

Question Stimulus :-
(28)



In the following q_uestipn, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, 9T 4G A TP US A €| TAd US FId BISA|

24,27,31,33,36
°* 24
* 27
e 31
® 33
Correct Answer :-31
28)

Question Stimulus :-

20% of a quantity is Rs. 400, the quantity equals / T HTIT T 20% 400 TYY PT &, AT STP TRT6R &
° 200
e 800
e 2000
* 8000
Correct Answer :-2000

29)

Question Stimulus :-

In a certain code language, bey das kat means wise and clever; das som jona means clever young boy; zup jona oon
means young means fresh. Which is the word for boy in that code language? / fodl @ syt 'el', bey das
kat T Hddd % wise and clever; das som jona PT Hddd % clever young boy; zup jona oon PI HdAd % young

means fresh | S HIS YT | boy & oI = e 2
® som
® das
® fat
® jona

Correct Answer :-som

(29)



30)
Question Stimulus :-

A number consists of two digits whose sum is 7. If 9 is subtracted from the number, the digits are reversed. The

numberislwmﬁﬁﬁﬁmﬂmﬁ%ﬁﬂﬁm7%| gfe T=m | A 9 Uel fear 9, &t sie
Il 8 WTa §) T @

® 43
® 52
® 70
® 61

Correct Answer :-43

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The bar graph below shows the expenditure of a company (in million usS) from 91-99. Answer the questions based on
graph? / 1 34T 9T IR WP 91-99 9% HUt & W (RIferas g, wa sTer &) gxitdr 81 I W Surfyd
ugl & TR deTUl

G000 -

5000 o
4000 3720 53865155 [ ]
2g0g 2840 |

5040

3120

O Expenditure
2000 - I by a company

1000 - —

u 1 1 T T T 1 I 1
21- 92- 395- 94- 95- 96- 97- 9B-
22 95 94 95 95 97 98 99

The expenditure in 1997-98 was how many times that in 1994-95? / 1997-98 o Eﬁ, 1994-95 § Wal BT fbd=T TqAr
Ur?
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Correct Answer :-1.5
2)
Question Stimulus :-
Which of the following number is divisible by 3? / ﬁ"}[ A3 ?ﬁ:[ It T@rm 3 ¥ faursy %?
® 16215433
® 21279931
® 75913422
® 21546316

Correct Answer :-75913422

3)
Question Stimulus :-

The largest gland in human body is / A9 TR & Gad I8! UfA 8
e stomach / ¥R
e liver /d%d
* large intestine / §8qiA
e salivary gland /@R f¥
Correct Answer :-liver / d&%d

4)

Question Stimulus :-

The area of a semicircle of radius ‘r’ is WAt - K% ® qua &1 & d %
1
. /2
2
o
2
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il

e
Correct Answer :- /

5)
Question Stimulus :-

Name the process in which oxygen is released and carbon dioxide is consumed / 3 ufepdr &1 919 ELIELY
o sifwRiie Iafvla gidl 8 SR Hrd-T ST33iaTss T SUUNT T

¢ Respiration / 494

e Transpiration / arsdiegsia

e Photosynthesis / W&TRT HXEATUT

* Translocation/ RdidR
Correct Answer :-Photosynthesis / U&HT=T J=ATOT
6)

Question Stimulus :-

The strength of an electro magnet depends on / TP ﬁgﬂ?[—ﬂﬁiﬁ P &UAT TAUR ik et 8 -

® The current passing through the coil / W il {IFR’% aret ﬁgfﬁf YRT
® The number of coils around the core / IS ¥ TRI 3R IUXI ?Ugﬁ’l'!ﬂ' P A=

e The material with which the core and the coil is made / T8 g o 1 His iR PUse

® BothA & B / A Td B &l
Correct Answer :- BothA & B / A Ud B &IFl
7)

Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on
graph? / <12 fa@T 7T IR 9T 91-99 9% St & @ (Frfera g,uw sier &) owifar 81 3% w smenfya
w4l & IR diforgl
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6000 -

5000 2320
4000 3720 ]

3000 2840 |

O Expenditure
2000 - — by a company

1000 4 —

u T T T T T T T 1
91- 92- 893- 894- 95- 9B- 97- 3IE-
22 93 94 95 95 97 @898 99

The ratio of the number of years, in which expenditure are above the average expenditure, to those in which the

expenditure are below the average expenditure is: / 3+ aut #1 I fSaH E%f, 3Nd Tt 4 3rfe % qura
¥ Foraw T oiird Tl @ $H § &1 3rqurd &

® 2:6

® 34

® 35

® 4:4
Correct Answer :-3:5
8)
Question Stimulus :-

If lines AB, AC, AD and AE are parallel to a line |, then the points A, B, C, D and E / Elﬁ m AB, AC, AD GﬁT

AEXT | & 9HIAR @ 41 A, B, ¢, D 3R £ facg

e forms a quadrilateral / IGHS T &

* are collinear / INWT §

® forms a pentagon / TIYST §Td &

* formsatriangle / Y 591 &
Correct Answer :-are collinear / TXEIT &
9)

Question Stimulus :-

The plants need nitrogen to produce protein. They get the nitrogen in the form of / M IUT P4 & ﬁl’({
el P ATZSIo B ATARIADAT Bl &1 d AT &) 39 ©0 § I Hd &
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®* Nitrogen gas from the atmosphere / daIgHUST T H’I%@\‘:FT T

® Nitrate salts from soil in the soluble form / W@ﬁﬁ'ﬂ?ﬂl ﬁ?l's'@'c’ oqur
e Ammonia / 3@ifAar
e Humus / g899

Correct Answer :-Nitrate salts from soil in the soluble form / JaT ¥ fda ¥ # gce @qu

10)
Question Stimulus :-

History of agriculture developed at the beginning of / FY &1 sfde™ sUF IR=ed A fawfa gan

® Neolithic Period / -T9UTUIOT JIT

® Paleolithic Period / YRTUTHTOT T

® |ron Age / ?ﬁ'ﬁ»’ g

® Bronze Age / HTH T
Correct Answer :-Neolithic Period / TaUTHIOT T
11)

Question Stimulus :-

What is a line intersecting a circle in two points called? / qd Gl ﬁg&ﬁ H fgurRra s arelt ¥
HEad 82

® Arc / 9IU

® Sector / (EECES

® Secant / @'35

® Radius / Em
Correct Answer :-Secant / ¥¢P
12)

Question Stimulus :-

The forest fires in Uttarakhand is an example of / STRTES o 99 3f DT 3glgrul %

® Slow combustion / Biea) qod
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® Rapid combustion /?I\_,r[ GoH
® Spontaneous combustion / Tdd: Ge-
e Explosion /ﬁ'\“ﬁ?
Correct Answer :-Rapid combustion /?lTrf God
13)
Question Stimulus :-
The rearing of silkworms for obtaining silk is known as / IM YT A & ﬁTQ' IH-HIe & AT B E_Ea'?f % -
® Apiculture / FW urer-
* Sericulture / ¥=TH JUTGH
® Horticultrue / IRTaT
® Silviculture / CECUE]
Correct Answer :-Sericulture / YW JATGT
14)

Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on
graph? / -T2 fe@m 74T IR 9T 91-99 9% ST F @ (Ffera g,uw ster &) o=ifar 81 % w amenfya
"yl & IR STl

6000 -
5000 2320

4000 g
000 2840 |

O Expenditure
2000 - L by a company

1000 - —

u T T T T T T T 1
21- 92- 93- 94- 95- 96- 287- 98-
92 93 94 95 95 97 98 99

For which year, the percent increase of expenditure over the previous year is the highest? / fioq g 3l LGEL "

foa o @l # i 9o wmar g8 9

® 92.93
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® 93-94
® 94.95
® 96-97
Correct Answer :-92-93

15)

Question Stimulus :-

To draw water from a well, the rope is being / $T I UHI Ao & ford, W= &t
e Pushed / YFQT VT &
* Pulled / AT ST @
* Pushed or pulled / Y&aT IT WiaT ST §
* Pushed & pulled / Y&aT 3R WiaT Srar §

Correct Answer :-Pulled / ST 9T @

16)
Question Stimulus :-

prm

If p/q= 151 then statement is true. /

Correct Answer :-m=n

17)

Question Stimulus :-
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The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / I AT TRIT IR W 91-90 9F S & T (Rifer= g.ww sTer #) amifar 81 91w W smenfya
w4l & TR Gl

6000 -

5000 2320

5720 R T
4000 venn 8380 379p
<000 —

5040

3120

O Expenditure
2000 - — by a company

1000 —

u T T T T T T T 1
21- 82- 93- 94- 9&- 98- 97- 98-
92 93 94 95 95 97 98 98

The expenditure in 96-97 were approximately what percent of the expenditure over the period under review? / 96-97

oI 3rafy ¥ gu W= &1 aHT fpa- ufa=a s & srdh= ure
® 95%
* 110%
® 115%
® 125%
Correct Answer :-125%
18)
Question Stimulus :-

The angle of incidence for a reflection from a mirror is found to be 450, What is the angle between the reflected

ray and the incident ray? / U® GUUT ¥ WRTad & ¢ MUa S 45 3 urar war 81 wrafda fe=or ek
3mufad fovor & s &1 SIvr & ghm?

e 9o
® ()
0

° 45

180°

Correct Answer :-90°

19)
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Question Stimulus :-

Choose the statement that is wrong about *Metamorphosis' / 3 PYT BT I a%%mvﬁ BT & IR |
Tad §

® Tt is the transformation of an egg to adult / dg 3 A TYTH BT Uad- %

® Egg directly hatches out in to an organism, with the same adult features / 3 ST HieT TP S @, 3%}
faRwarsit & 1Y S TP aup | i g, 916N ST 7

® It passes through different stages / g fafirs == @ TeRdl g

® The features of each stage of development is very different / &Y TRUOT & faor ot ﬁaﬁm " %

Correct Answer :-Egg directly hatches out in to an organism, with the same adult features / 38T HIT TH

ST ¥, I faiuarae & I1Y Sl T 99 § gid €, 916% 3MaT &

20)
Question Stimulus :-

Manoj received Rs. 6000 as his share out of the total profit of Rs. 9000 which he and
Ramesh earned at the end of one year. If Manoj invested Rs. 20000 for 6 months, whereas
Ramesh invested his amount for the whole year, what was the amount invested by
Ramesh? / 9000 ¥UU & $@ A4 & & TS A 304 3% & ¥4 § 6000 FUT YT fha, o v wd
TR A TP a4 & 3id § ifofa fwan afe g 7 6 Tl & T 20000 FuT Az 5y Safe @= st
AR Bt R 9¥ & e fFawr v, w= gr FafRR aiXy «m A

® Rs. 4000
® Rs. 10000
® Rs. 5000
® Rs. 6000

Correct Answer :-Rs. 5000

21)
Question Stimulus :-

What is the importance of Rhizobium? [ JTSSN{STH T FT HEM &?

® It turns compounds of nitrogen in to gaseous nitrogen / g 313@@7'[ ¥ il @ it T'I'E_gﬁﬁ:l |
SaerdT 3

® Tt fixes atmospheric nitrogen / g argn@.?’ﬂu T'I'Iﬂaﬁ:[ 3! fRR Har @
® It promotes ammonia formation / g it fFafor &t deldl %
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® It enhances decay of organic materials / Ug 5G| w?ﬁ & &a Gal deldl %
Correct Answer :-It fixes atmospheric nitrogen / Tg W qﬁ_@ﬁq o fRR Fear @

22)
Question Stimulus :-
log 5y x = D'S, then the value of x is / log 5= 0.8 al x THAE I
® 256
* 16
® 10
* 128
Correct Answer :-16
23)
Question Stimulus :-

A monthly installment of Rs.180 is required to be paid for repayment of an interest fee loan in 40 months. If it is
decided to pay it in 30 months, how much will be the monthly installment in rupees? / 180 I B AR fow
40 T o I Yo BUT Bt Serait & g Yarar fpar s smazass 81 afe ag ffda 8 7% 30
TE | DT YITATH BT €, a9 ATRNIS < fora- $W o1 gifte

® 60

® 240
® 330
® 300

Correct Answer :-240

24)
Question Stimulus :-

The sound from the bee is produced when its wings vibrates at 360 vibrations per second. The Time Period of
the vibration would be / TYTRS T taf¥ HT I 99 §IaT & 919 I8 U UW §RT Ui Abs H 360 HUT
Hl 31 HUT Pt TH rafdy gift

* 1/6

°* 1/36
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* 1/360
* 1/216

Correct Answer :-1/360

25)
Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / <19 f&@T AT IR ITW 91-99 9% ST & W (Fiferas g,uw sier o) a=ifar 81 % W smenfya
sl & IR difeTl

6000 -

5000 2320

ar20 oan T
4000 vean 3888 379p
<000 —

5040

3120

O Expenditure
2000 - L by a company

1000 A —

E' T T T T T T T 1
g1- 92- 95- 94- B85- 98- 97- 88-
22 23 2924 95 98 o7 98 29

What was the percentage increase in the expenditure in 1997-98 over 1993-94? / 1993-94 F T B ?IT&&'[ 1997-98 H

@l & foa wrwa At g8 d
. 100
® 150
® 200
® 620

Correct Answer :-100

26)

Question Stimulus :-

Ifo = & < 909, the value of cos g lies in the interval /afco £ & £ 90°,
cos 7 wrum & SiaTa § g
* [0, 2]
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* [-1,0]

* [1,2]

* [0,1]
Correct Answer :-|0, 1]
27)

Question Stimulus :-

Which of the following materials will you prefer for replacing the broken handle of your bread toaster? / a@’ a'\‘ET &

¢ BU 3USH P! gge ¥ e oy & @ 919 1 uard #f weg w3
* Brass/ Utqd
® Copper / didl
® Aluminium / TegHIaH
* Wood / AHSI

Correct Answer :-Wood / @HSI

28)
Question Stimulus :-

Which of the following options gives the area of the parallelogram given in the figure? / ﬁq RN redfmdd

B A1 ey HIGR TgH BT &% gxifar 82

B r

x—[— ] [
® % * BE *AD
®* BE * AD
e 2%(AD+DC)
® AD *DC
Correct Answer :-BE * AD

29)
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Question Stimulus :-

The temperature of hot water is measured using / T U BT quEE U SUDBIUT & TN | GIUT ST §
® (linical thermometer / ﬁ?{lﬁﬁ? yyfdier
* Digital thermometer / f&forea yuitfiex
® Maximum-minimum thermometer / Gfﬁlm-w YHTHIeR
® Laboratory thermometer / TERTRITET YA e

Correct Answer :-Laboratory thermometer / TARTRITET YATHIeR

30)
Question Stimulus :-

The organism which contantly changes its shape and position is / 98 &9 91 5ilg g S AR
AT STHR 3R R FT agaar 82

e Euglena /el
e Amoeba / 3T
e Paramoecium ;/ RTHRRE

e Cyanobacteria / ATg-Iaa AT

Correct Answer :-Amoeba / 3rdtar
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